Subjects: First Language + Second Language +
Third Language

[Time: 10.30 A.M to 01.30 P.M
[Total No. of Questions: 40+40+40=120
[Max.Marks : 40+40+40=120

First Language - 14E

Four choices are given for each of the following questions/incomplete statements.
Choose the correct answer among them and shade the correct option in the
OMR answer sheet given to you with a black/blue Ball Point Pen.

[40 x 1 = 40]

1.0n doctor’s advice, he had X-Ray taken.
The appropriate articles to be filled in the blanks are

A) the, the

B) the, a

C) A an

D) the, an

Solution:

A) the, the

2. Farmers grow food for the country,

The appropriate question tag to be added is
A) don’t they?

B) won't they?

C) do they?

D) aren’t they?

Solution:

A) don’t they?

3. Don’t talk here.

The group of words is
A) a phrase

B) a simple sentence

C) a complex sentence
D) a compound sentence
Solution:

B) a simple sentence

4. We love Bapuji. We respect him.
The coordinating conjunctions to be used to combine the sentences are
A) either ....or
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B) so ... that

C) not only ... but also
D) neither ... nor
Solution:

C) not only ... but also

5. He is a man afine sense humour.

The appropriate prepositions to be filled in the blanks are
A) in, of

B) for, with

C) with, of

D) at, of

Solution:

C) with, of

6. People always admire a courageous person.

The passive voice of the sentence is

A) A courageous person is always admired.

B) A courageous person has always been admired.
C) A courageous person was always admired.

D) A courageous person should be always admired.
Solution:

A) A courageous person is always admired.

7. In Bengaluru, the value of properties has appreciated but the quality of life has

The blank to be filled with the antonym of the underlined word is
A) deteriorated

B) declined

C) depreciated

D) diminished

Solution:

A) deteriorated

8. The logo symbolises the company.

The word ‘symbolises’ can be replaced with a phrasal verb
A) stands for

B) stands on

C) stands in

D) stands up

Solution:

A) stands for

9. The package containing books and records last week.
The correct form of the verb to be filled in the blank is
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A) is delivered

B) was delivered
C) are delivered
D) were delivered
Solution:

B) was delivered

10. Very few kings were as great as Ashoka.
The superlative degree of the sentence is

A) Ashoka was the greatest king.

B) Ashoka was greater than most other kings.
C) No other king was as great as Ashoka.

D) Ashoka was one of the greatest kings.
Solution:

D) Ashoka was one of the greatest kings.

11. decide : decision : : prefer :
Complete the second pair

A) preferred

B) preference

C) preferably

D) preferable

Solution:

B) preference

12. Fame shall sound thy praise from sea to sea.
The figure of speech used in the line is

A) metaphor

B) personification

C) simile

D) synecdoche

Solution:

B) personification

13. The correct order of format for an official (formal) letter is

A) Sender’s name, Salutation, Body of the letter, Subscription, Signature

B) Receiver’s address, Salutation, Subscription, Body of the letter, Signature

C) Salutation, Receiver’s address, Body of the letter, Signature, Subscription

D) Sender’s address, Receiver’s address, Salutation, Body of the letter, Subscription,
Signature.

Solution:

D) Sender’s address, Receiver’s address, Salutation, Body of the letter, Subscription,
Signature.

14. Monday, 31st May 2021




Today my summer holidays have begun. [ have some plans for this vacation. 'm
planning to go to a wildlife sanctuary and boating in a lake. I just don’t want to
spend a single moment idly and will enjoy every bit of these holidays.

I'm excited and eagerly looking forward to my holidays.

Kamal.

The above piece of literature is a format of
A) areport

B) a diary entry

C) a personal letter

D) an itinerary

Solution:

B) a diary entry

15. When the men say “We haven’t a moment to spare” they mean that they are
A) over-burdened with their work

B) happy and proud to be so busy

C) indifferent

D) complaining

Solution:

A) over-burdened with their work

16. The lesson ‘A Wrong man in workers’ Paradise’ finally illustrates
A) how humans waste time in doing useless things

B) how people in workers’ paradise enjoyed their busy schedule

C) how the impact of art work and beauty can change people

D) how the idle man was ignored in the workers’ paradise

Solution:

C) how the impact of art work and beauty can change people

17. The writer, C.V. Raman compares water in a landscape to
A) human eyes

B) beautiful girl

C) sunshine

D) human mood

Solution:

A) human eyes

18. Della’s flat was furnished at eight dollars per week. It did not beggar description.
The phrase ‘beggar description’ means here is

A) it is impossible to describe in words

B) it is like a beggar’s house

C) only a beggar can describe it

D) itis notlike a beggar’s house

Solution:
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A) it is impossible to describe in words

19. Through his experiment Pasteur proved that germs
A) form from other germs

B) just come by themselves

C) may be carried by air or dust

D) had no parents but just occurred by themselves
Solution:

A) form from other germs

20. According to Gandhiji, we can be regarded to have stepped on to moral road
when we

A) follow the conventional rules

B) listen to our conscience

C) observe the customs and traditions of the society

D) assess our social behaviour

Solution:

B) listen to our conscience

21. ‘Serve God from love alone without fear of hell ..." these are the words of
A) Saint Theresa

B) St. Francis Xavier

C) Mahatma Gandhiji

D) Wendell Phillips

Solution:

B) St. Francis Xavier

22. The narrator in the lesson, ‘The Eyes are Not Here’, knew that the girl wore
slippers

A) because he had seen her wearing them

B) from the way they slapped against her heels

C) because she had informed him about that

D) he had asked her to wear them

Solution:

B) from the way they slapped against her heels

23. The girl said to the narrator, “I didn’t know anyone else was here.” She said so
A) as she did not see him

B) as she didn’t want to continue conversation with him

C) because she was blind

D) just for fun

Solution:

A) as she did not see him
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24. “In spite of everything, I still believe that people are really good at heart.” These
are the words of

A) Otto Frank

B) Miep

C) Margot

D) Anne Frank

Solution:

D) Anne Frank

25. When the Nazis invaded the Netherlands, Otto Frank decided to
A) migrate to Switzerland

B) hide in a place away from Netherlands

C) hide in his own business office

D) move to Auschwitz

Solution:

C) hide in his own business office

26. Pierre said, ‘Paris should be proud of us’. He said this
A) in a sarcastic manner due to his pathetic condition

B) as he was very different from others

C) because he and Jean made the best pair in Paris

D) because everybody said so

Solution:

A) in a sarcastic manner due to his pathetic condition

27.1In the poem, ‘To a Pair of Sarus Cranes’ the words ‘in dots and pits’ refer to
A) slow and steady movements

B) short and long cries

C) short and quick steps

D) flying in a circular manner

Solution:

C) short and quick steps

28. The poem, ‘To a Pair of Sarus Cranes’ is composed by
A) Toru Dutt

B) Robert Frost

C) Basavanna

D) Manmohan Singh

Solution:

D) Manmohan Singh

29. The father, Abraham Lincoln, asks the teacher to give some leisure time for his
son in order to

A) play some useful games

B) spend time with his friends
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C) ponder the eternal mystery of the nature around him
D) do whatever he wants to

Solution:

C) ponder the eternal mystery of the nature around him

30. ‘... all men are not just / All men are not true’. These lines convey
A) a one-sided view of life

B) the harsh reality of life

C) Lincoln’s personal view

D) the teacher’s personal view

Solution:

B) the harsh reality of life

31. What is the feeling of the Speaker, suggested in the question, “What Shall |, a
poor man, do?”

A) helplessness

B) doubt

C) humility

D) anger

Solution:

A) helplessness

32.In the poem, ‘A Poison Tree’, the apple is ‘bright’
A) due to good nourishment

B) to tempt the foe

C) to please the foe

D) because it is grown naturally

Solution:

B) to tempt the foe

33. The poem, ‘The Stolen Boat’ is a
A) metaphysical poem

B) philosophical poem

C) melancholic poem

D) humorous poetry

Solution:

B) philosophical poem

34.In the poem, ‘The Stolen Boat’, in the boy’s imagination, the movement of the
peak is

A) threatening and menacing

B) lively

C) friendly and inviting

D) very graceful

Solution:
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A) threatening and menacing

35. The poem ‘Buttoo’ is an extract from the epic
A) Ramayana

B) Mahabharatha

C) Geetha

D) Vedas

Solution:

B) Mahabharatha

36. Buttoo says “All that I have, all I shall conquer by my skill, gladly shall I to thee
resign.” This shows Buttoo's

A) reverence to Drona

B) foolishness

C) ingratitude

D) proud nature

Solution:

A) reverence to Drona

37. The most dominant feeling of the poet in the poem, C.L.M. is
A) a feeling of guilt

B) a sense of loneliness

C) a sense of ignorance

D) a sense of loss

Solution:

A) afeeling of guilt

38. The poet says that his mother would not know him because
A) she has never seen him

B) he has grown big

C) she has grown old

D) she doesn’t know his whereabouts

Solution:

A) she has never seen him

39. Parasurama became angry with Karna because Karna
A) refused to give up a war with Arjuna

B) told a lie to him

C) refused to give Parasurama his demand

D) joined hands with Duryodhana

Solution:

B) told a lie to him

40. Ulysses had a company of
A) twelve followers
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B) thirty followers
C) forty followers

D) thirteen followers
Solution:

D) thirteen followers

Second Language - 31E

Four choices are given for each of the following questions/incomplete statements.
Choose the correct answer among them and shade the correct option in the
OMR answer sheet given to you with a black/blue ball point pen.

[40 x 1 = 40]

41. The child laughed loudly.

The part of speech of the underlined word is a/an
A) adverb

B) pronoun

C) adjective

D) preposition

Solution:

A) adverb

42. Sudhir is MP and his wife is homemaker.
The appropriate articles to be used here are

A) the, an

B) a, the

C)an, a

D) the, a

Solution:

D) the, a

43. Reena is leaving tonight, ?

The correct question tag to be used here is
A) is she

B) isn't she

C) does she

D) don't she

Solution:

B) isn't she

44.1 to my brother last week.

The appropriate tense form of the verb to be used is
A) writes

B) written

C) wrote

D) writing




A
' - "-. l_
Infinityy

Learn..

Solution:
C) wrote

45. After a long search we found a hotel it was closed.
The correct linker to be used here is

A) but

B) so

C) since

D) because

Solution:

A) but

46. The correct prefix to be used to form the opposite of 'perfect’ is
A) in

B) im

C)un

D) dis

Solution:

B) im

47. Machines are replacing the workers.

The passive form of the above sentence is

A) The workers were replaced by machines.

B) The workers are being replaced by machines.
C) The workers are replaced by machines.

D) The workers have been replaced by machines.
Solution:

B) The workers are being replaced by machines.

48. There was nothing we could do. It took most of the following winter to buy the
trees.

The infinitive in the above sentence is

A) was

B) took

C) to buy

D) could

Solution:

C) to buy

49.1 playing football because of the injury.
The correct phrasal verb to be used is

A) gave in

B) gave out

C) gave away

D) gave up
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Solution:
D) gave up

50. The word that collocates with 'joint' is
A) damage

B) account

C) commerce

D) holiday

Solution:

D) holiday

51. Raghu went to Mysore to meet his friend.

The appropriate question to get the underlined words as answer is
A) Where did Raghu go?

B) Who went to Mysore?

C) Why did Raghu go to Mysore?

D) How did Raghu go to Mysore?

Solution:

C) Why did Raghu go to Mysore?

52. Could you please lend me your book?

The language function of the above sentence is
A) instruction

B) request

C) advice

D) suggestion

Solution:

B) request

53. The word which has one syllable is
A) postpone

B) debate

C) true

D) calendar

Solution:

C) true

54.In an official letter, 'Respected Sir' is known as
A) subscription

B) subject

C) superscription

D) salutation

Solution:

D) salutation
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55. Bridges are built the river.
The correct preposition to be used is
A) across

B) in

C) of

D) about

Solution:

A) across

56.If I had brought my camera, we taken some photographs.
The correct words to be used to complete the ‘if’ clause sentence are
A) shouldn't have

B) wouldn't have

C) would have

D) should have

Solution:

C) would have

57.'How could a boy fight a tiger?' This was said by
A) Swami's father

B) the inspector

C) Swami

D) Granny

Solution:

A) Swami's father

58. When Swami saw something moving towards him

A) he cried out in fear

B) he hugged it and used his teeth on it like a mortal weapon
C) he covered his face with a blanket

D) he tried to run away from it

Solution:

B) he hugged it and used his teeth on it like a mortal weapon

59. Doctor Anil Agarwal, seeing the extent of Roma's injuries, admitted her
immediately to the ICU without any paperwork. This shows that

A) he was scared

B) he was Roma's friend

C) he cared for life

D) he was very influential

Solution:

C) he cared for life

60. Baleshwar took Roma to the hospital with the help of
A) a traffic policeman
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B) a tempo truck driver
C) a motorist

D) a railway employee
Solution:

B) a tempo truck driver

61. Baleshwar shouted 'Let's go and help her!" But nobody volunteered because
A) they were afraid of getting involved.

B) it was dark and getting late.

C) they were scared to jump off the moving train.

D) they thought one person was enough to help.

Solution:

C) they were scared to jump off the moving train.

62. Identify the activity in which the children of Rio-en-Medio were not involved,
after the Americans moved into the house.

A) playing under the trees

B) building little play fences

C) plucking flowers from the trees

D) pruning the trees

Solution:

C) plucking flowers from the trees

63. The line which suggests that the old man was a farmer is
A) He had a lot of time.

B) He tilled the same land his people had tilled.

C) He was in no hurry.

D) He was proud of his family.

Solution:

B) He tilled the same land his people had tilled.

64.'A piece of land in which fruit trees are grown' is known as
A) creek

B) ranch

C) orchard

D) meadow

Solution:

C) orchard

65. Baba Saheb Ambedkar was described as 'A symbol of revolt' by
A) Mahatma Phule

B) Jawaharlal Nehru

C) Mahatma Gandhi

D) K.M. Munshi

Solution:
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A) Mahatma Phule

66. Mookanayak, Bahishkrit Bharat and Samata were
A) Voice mails

B) Newspapers

C) Political parties

D) Magazines

Solution:

B) Newspapers

67. The doctors at the cancer hospital said, 'Take him home, give him the things he
likes, indulge him.' This means that

A) the boy had not many days to live.

B) the boy had recovered.

C) the boy was willing to go home.

D) the parents wanted to take him home.

Solution:

A) the boy had not many days to live.

68. Anant astonished his guru because

A) he learnt to play the Sitar very quickly.

B) he was already able to compose his own tunes.
C) he won many prizes for playing the Sitar.

D) he was curious and asked many questions.
Solution:

A) he learnt to play the Sitar very quickly.

69. Sketching came naturally to Satish as he had always been good at
A) reading

B) hiking

C) calligraphy

D) listening

Solution:

C) calligraphy

70. Satish didn't want to go to a new school because
A) he would miss his friends.

B) everyone would make fun of his deafness.

C) it was very far from his house.

D) he had lost interest in studies.

Solution:

B) everyone would make fun of his deafness.

71.'My dad knew his duties.' His duty was
A) to encourage Grandma to climb trees.
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B) to advise her to stop climbing trees.

C) to build a tree house.

D) to visit her in the tree house every day.
Solution:

C) to build a tree house.

72. Grandma learnt to climb trees from her
A) trainer

B) father

C) son

D) brother

Solution:

B) father

73.In the poem 'Quality of Mercy', mercy is compared to
A) the crown

B) gentle rain from heaven

C) king's rule

D) temporal power

Solution:

B) gentle rain from heaven

74. ‘It is enthroned in the heart of kings;” Here ‘it’ refers to
A) earthly power

B) sceptred sway

C) mercy

D) awe and majesty

Solution:

C) mercy

75.'Shall I sing

Of your rock-cut temples, epics in stone,’
The above lines depict that India is rich in
A) resources

B) art and architecture

C) industries

D) technology

Solution:

B) art and architecture

76. In the poem 'The Song of India' the poet wants to sing about
A) the Himalayas and the three seas

B) wrinkled face and helpless child

C) the beggar and the leper

D) strikes and class war
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Solution:
A) the Himalayas and the three seas

77.'His run-down shoes have paper in them'. This line suggests that the Jazz player
was

A) poor

B) simple

C) clever

D) rich

Solution:

A) poor

78. You talk of

Select the appropriate option to complete the line from the poem "The Blind Boy'.
A) blessings of the sight,

B) wondrous things you see,

C) sun shines bright;

D) my hapless woe;

Solution:

B) wondrous things you see,

79. Patil, the Sub-Inspector, wanted to help Mohan's family because he was
A) a police officer

B) a friend of Mohan's father

C) fond of children

D) Mohan's friend

Solution:

B) a friend of Mohan's father

80. Hema Aziz gave her children the message that
A) music was very important to her.

B) everyone has to face difficulties in life.

C) one's duty is the most important thing in life.
D) they should serve in the army.

Solution:

C) one's duty is the most important thing in life.

Third Language - 63E

81) It towered high above the other animals in the zoo. It was
A) Elephant

B) Giraffe

C) Tiger

D) Rhino
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Solution:
B) Giraffe

82) Gopi wrote to Vishnu about the animal which was racing madly. It was
A) Elephant

B) Camel

C) Antelope

D) Giraffe

Solution:
C) Antelope

83) The title "Sangit Kalanidhi" was given to
A) M.S. Subbulakshmi

B) Semmangudi Srinivas lyer

C) Lata Mangeshkar

D) Pandit Jasraj

Solution:
B) Semmangudi Srinivas lyer

84) Kashmir has earned the nickname as the
A) Switzerland of the East

B) Paris of the East

C) New Zealand of the East

D) Finland of India

Solution:
A) Switzerland of the East

85) The river that flows through the city Srinagar in Kashmir is
A) Ganga

B) Sindhu

C) Jhelum

D) Yamuna

Solution:
C) Jhelum

86) The poem 'The Noble Nature' is composed by
A) Sarojini Naidu

B) G.E. Goodrich

C) Benjamin Johnson

D) William Blake
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Solution:
C) Benjamin Johnson

87) In the poem '"Autumn Song’, the sunset
A) hangs on a cloud

B) is never seen

C) is very beautiful

D) is seen over the sea

Solution:
A) hangs on a cloud

88) The name that became a terror to the Persian army was
A) Rustum

B) Tahminah

C) Chieftain

D) Sohrab

Solution:
D) Sohrab

89) The laughing of the children is heard
A) on the hill

B) on the mountain

C) in the home

D) everywhere

Solution:
D) everywhere

90) 'The king saw it, he remembered somebody he loved.' The king saw
A) adeer

B) aring

C) a sword

D) a bracelet

Solution:
B) aring

91) When we are prodigal, the faithless call us
A) Bountiful

B) Beautiful

C) Flatterer

D) Vice
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Solution:
A) Bountiful

92) Tahminah bound the seal that her husband had given, to her son's
A) leg

B) waist

C) neck

D) arm

Solution:
D) arm

93) Chanakya came forward and received Rakshasa with great
A) joy

B) honour

C) anger

D) surprise

Solution:
B) honour

94) In the poem 'Autumn Song’, the poet says that her heart is
A) sad

B) happy

C) kind

D) excited

Solution:
A) sad

95) M.S. Subbulakshmi gave her first recital at the age of
A) 15

B) 10

C)18

D) 8

Solution:
D)8

96) 'Alily of a day / Is fairer in May'.
These lines are taken from the poem
A) The Noble Nature

B) Autumn Song

C) It Never Comes Again

D) A Nurse's Song
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Solution:
A) The Noble Nature

97) The people of Kashmir dry vegetables and fruits
A) for winter use

B) for summer use

C) for festivals

D) for tourists

Solution:
A) for winter use

98) The animal which reminded the childhood ambition to Gopi was
A) an elephant

B) a camel

C) a giraffe

D) an antelope

Solution:
C) a giraffe

99) The poet G.E. Goodrich requests God to teach our hearts to listen to the plea of
A) poor people

B) little children

C) old people

D) dumb creatures

Solution:
D) dumb creatures

100) One of the reasons given by the children for not giving up playing is
A) the sun is shining

B) people are working in the fields

() little birds fly in the sky

D) the other elder children are playing

Solution:
A) the sun is shining

101) In the poem 'It Never Comes Again’, the stage of life that remains in man's
heart forever is

A) childhood

B) adulthood

C) youth
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D) old age
Solution:
C) youth

102) The Chief confirmed that the gem was in the belly of the fish
A) by smelling it

B) by touching it

C) by seeing it

D) by washing it

Solution:
C) by seeing it

103) 'The kingdom would be safe if Rakshasa became the minister'. Who knew this?
A) King

B) Chandan Das

C) Chanakya

D) People

Solution:
C) Chanakya

104) Lata Mangeshkar acted in as many as eight films in
A) Hindi and Kannada

B) Hindi and Tamil

C) Hindi and Telugu

D) Hindi and Marathi

Solution:
D) Hindi and Marathi

105) 'Although it fall and die that night'. The word 'it' refers to
A) Lily flower

B) Oak tree

C) Jasmine flower

D) Any flower

Solution:
A) Lily flower

106) As per the poem 'It Never Comes Again', when youth departs
A) we feel something beautiful has vanished

B) we sigh in vain

C) we search it everywhere

D) we feel all the above three
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Solution:
D) we feel all the above three

107) 'I'live on the Ganges at the spot where Indra came down'. This was told by
A) the Chief

B) Fisherman

C) Suchaka

D) Januka

Solution:
B) Fisherman

108) The musician who has made Guinness Records is
A) Semmangudi Srinivas lyer

B) M.S. Subbulakshmi

C) Lata Mangeshkar

D) Thyagaraj Sadasivam

Solution:
C) Lata Mangeshkar

109) According to the poem 'Faithful Friends', 'the one who is inclined to vice' is not
our

A) faithful friend

B) faithless friend

C) dishonest friend

D) happy friend

Solution:
A) faithful friend

110) Rustum was struck with horror

A) When Sohrab called him 'father"

B) When he saw the seal on Sohrab's body
C) When Sohrab attacked him

D) When his wife told him about his son

Solution:
A) When Sohrab called him 'father’

111) The correctly spelt word is
A) writen
B) wreten
C) written
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D) ritten
Solution:
C) written

112) The word that doesn't rhyme among the group is
A) lie

B) thee

C) why

D) high

Solution:
B) thee

113) Rajesh is the leader of his team.
The underlined word is

A) a common noun

B) a proper noun

C) a collective noun

D) an abstract noun

Solution:
A) a common noun

114) The teacher asked questions.

The passive voice of the sentence is

A) Questions are asked by the teacher.

B) Questions are being asked by the teacher.
C) Questions have been asked by the teacher.
D) Questions were asked by the teacher.

Solution:
D) Questions were asked by the teacher.

115) The police caught the thief.

Frame a question to get the underlined words as answer.
A) Who caught the thief?

B) What did the police do?

C) Whom did the police catch?

D) What did the thief do?

Solution:
C) Whom did the police catch?

116) We would address a person in an informal (personal) letter as
A) Respected Sir/Madam
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B) Hello Mr./Mrs.
C) My dear
D) Dear Sir/Madam

Solution:
C) My dear

117) Classical
Make it a compound word by adding a suitable word.
A) player

B) runner

C) driver

D) dancer

Solution:
D) dancer

118) The music programme has been postponed.
Replace the underlined word with a phrase

A) put off

B) putin

C) putup

D) put out

Solution:
A) put off

119) Add a prefix to the word "happy' to form its antonym (opposite)
A) dis

B) in

C) un

D) mis

Solution:
C) un

120) 'A place made for keeping fishes'.
The one-word meaning for the phrase is
A) aviary

B) apiary

C) orchard

D) aquarium

Solution:
D) aquarium




